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(D.E1.Ed.) 
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O 	 June, 2014 

BES-002 : TEACHING, LEARNING AND 
ASSESSMENT 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words. 

Explain the meaning of assessment and 
evaluation. Discuss how assessment plays a 
significant role in the teaching-learning process. 

OR 

Explain the concept of ICT. Discuss various uses 
of ICT in the teaching-learning process. 

2. Answer the following question in about 
600 words. 

Explain the meaning and nature of teaching. 
Discuss the relationship between learning and 
teaching. 

OR 

Discuss the influence of socio-cultural and school 
related factors on student learning. 
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3. 	Answer any four of the following questions in 
about 150 words each. 
(a) How does an understanding of Piaget's 

theory of cognitive development help a 
teacher in organising activities for 
children ? 

(b) How can you create a motivating climate 
in the classroom ? 

(c) Differentiate between a priori knowledge 
and a posteriori knowledge with examples. 

(d) State different categories of questions with 
suitable examples. 

(e) Mention the different types of charts and 
their uses in the teaching-learning process. 

(f) Differentiate between asynchronous and 
synchronous modes of communication used 
in E-learning. 

	

4. 	Answer the following question in about 
600 words. 
Identify a topic of your choice from the elementary 
school curriculum. Prepare a lesson plan on the 
same using a constructivist approach. 
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